The model
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Model in IRIS

LGDP = LGDP_BAR + Y;

Y = rholxY{-1} - rho2/100*%(PIE4{-1} - PIELTE{-1}) + RES_Y;
GROWTH4 = LGDP - LGDP{-4};

GROWTH = 4x(LGDP - LGDP{-1});

GROWTH4_BAR = LGDP_BAR - LGDP_BAR{-4};

GROWTH_BAR = 4x(LGDP_BAR - LGDP_BAR{-11});

PIE4 = PIE4{-1} + beta*Y + omega*(Y - Y{-1}) + RES_PIE;
PIELTE = PIELTE{-1} + RES_PIELTE;

UNR = UNR_BAR - UNR_GAP;
UNR_BAR = UNR_BAR{-1} + UNR_G
- parhist/100%Y{-1} - lambda/100%(UNR_BAR{-1} - unr_ss) + RES_UNR_BAR;
UNR_G = (1-alpha)*UNR_G{-1} + RES_UNR_G;
UNR_GAP = phil*UNR_GAP{—l} + phi2xY + RES_UNR_GAP;

CAPU = CAPU_BAR + CAPU_GAP;

CAPU_BAR = CAPU_BAR{-1} + CU_G + RES_CAPU_BAR;

CU_G = (1 - delta)*CU_G{-1} + RES_CU_G;

CAPU_GAP = kappal*CAPU_GAP{-1} + kappa2+Y + RES_CAPU_GAP;

APL_BAR = APL_BAR{-1} + G/4 + RES_LGDP_BAR;
G = (1-tauw)*G{-1} + tauxgrowth_ss + RES_G;
DAPL_BAR = 4*x(APL_BAR - APL_BAR{-1});
APL_BAR = LGDP_BAR - LE_BAR;

DLN
DLN

(1-zeta) *DLN{-1} + zeta*popgrowth_ss + RES_DLN;
4x (LN - LN{-1});

LP_GAP = thetal*LP_GAP{-1} -100/part_ss*theta2*(UNR - UNR_BAR) + RES_LP;
LP_GAP = LP - LP_BAR;

LP_BAR = (1-eta)*LP_BAR{-1} + etax100*log(part_ss/100) + RES_LP_BAR;

LLF_BAR = LN + LP_BAR;

DLLF_BAR = 4*(LLF_BAR - LLF_BAR{-1});
LLF = LN + LP;

DLLF = 4*(LLF - LLF{-1});

UNR_BAR - unr_ss = -(1-unr_ss/100)*(LE_BAR - LLF_BAR - 100*log(l-unr_ss/100));
DLE_BAR = 4*(LE_BAR - LE_BAR{-1});



